6 IRW 040 (n, = 1400 06/MuH)

KNA gguge;: BbixoaHo# conaveu FA, FB, FC, FD

280 . 5 . 025 8 . 45 . 34 . 090
280 5 0,37 11 3 34 0,90
..280 G 5. .....055 . 7 .. ..2 ..:..384 .09
186,7 75 0,25 11 36 38 0,85
186,7 7.5 0,37 16 2,4 38 0,85
186,7 7.5 0,55 24 1,6 38 0,85
140 10 0,25 14 238 39 0,82
140 10 0,37 21 1,9 39 0,82
93,3 15 0,25 20 1,9 39 0,78
93,3 15 0,37 30 13 . 39 078 29
70 20 0,18 19 2 39 0,77
70 20 0,25 26 1,5 39 0,77
70 .20 0087 po089 oo .89....077
56 25 0,18 23 1,7 39 0,75
56 25 0,25 32 1.2 39 0,75
.96 .25 :.037 ;. .47 .:..08 .39 ...075
46,7 30 0,12 17 2,6 44 0,67
46,7 30 0,18 25 1,7 44 0,67
46,7 30 0,25 35 1,3 44 0,67 . . . .
467 .80 :.037 .52 .06 .. .44 . 067 RW © er ° EB ' Fc  FD
35 40 0,12 21 1,9 40 0,63 040 : : :
35 40 0,18 32 1,3 40 0,63 PA 67 97 80 58
.85 ....40 :.025 . 44 .09 ... ..40 . 063
28 50 0,09 19 2 38 0.57 3 ’ 7 9 12
28 50 0,12 25 1,5 38 0,57 PC 4 4 5 5
.28 .50 .08 . 37 .;..1......38 .. .057 PN 60 60 95 80
23,3 60 0,09 21 17 36 0,52
233 60 0,12 28 1,3 36 0,52 PM 75 7 15 100
233 60 0,18 42 08 36 0,52 PO 9(n=4) 9(n=4) 9,5(n=4) 9(n=4)
17,5 80 0,09 25 1,3 33 0,49 PP 110 110 140 120
17,5 80 0,12 33 1 33 0,49
14 100 0,09 29 1 30 0,45 el 95 95 B B
14 100 0,12 38 0,8 30 0,45 : ol - 45° = 45° = 45° . 45°
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